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l.

Daniel has not been provided adequate resources to perform his job. As a
result, he feels that no matter how hard he tries, he cannot perform as he is
expected to. Which of the following aspects of expectancy theory explains this
perception?

(A) Low expectancy

(B) Low instrumentality

(C) Low valence

(D) Poor job characteristics

A sales representative is informed by his supervisor that if he exceeds his sales
for the last quarter by 20 percent then some of his more difficult clients will be
transferred to another sales representative. The supervisor strongly believes
that the transfer will help him achieve past sales targets in the subsequent years.
This 1s an example of

(A) extinction

(B) punishment

(C) negative reinforcement

(D) positive reinforcement

A production worker, who in the past has done one specific activity, now doe
three different activities that require the same kinds of skills I an example of:
(A) job enlargement

(B) job specialization

(C) job enrichment

(D) job depth



Which of the following is true about Herzerg’s two-factor theory?

(A) Herzerg believed that the factors that led to job satisfaction were the same
as those that led to job dissatisfaction

(B) To motivate people, Herzerg suggested emphasizing the hygiene factors of
a job

(C) Herzerg’s theory has influenced how we currently design jobs. Sizing the
hygiene factors of a job

(D) According to Herzerg, removing dissatisfying characteristics from a job
will invariably make that job more satisfying and motivating

Adam decides that a promotion is likely because he has worked the hardest

and received the highest performance appraisals in his group. Which theory

best explains Adam’s behavior?

(B) Low effort-performance expectancy and low performance-to-outcome
expectancy

(C) Low effort-performance expectancy and high performance-to-outcome
expectancy

(D) High effort-performance expectancy and low performance-to-outcome
expectancy

(E) High effort-performance expectancy and high performance-to-outcome
expectancy

The 1dea that the effectiveness of organizational structure and control systems
depends on what outside forces it 1s facing is called:

(A) Behavioral management

(B) Contingency management

(C) Quantitative management

(D) Administrative management

The promise of behavioral theories of leadership held that this would be
possible.

(A) being able to train a person to be leader

(B) picking a leader out of crowd

(C) explaining why successful leaders were successful

(D) eliminating ineffective leaders

The line of authority that extends from the upper levels of management to the
lowest levels of the organization is:

(A) authorized line of responsibility

(B) unity of command
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(C) responsibility factor
(D) chain of command

The first step for building productive teams is:

(A) Building trust among group members

(B) Selecting individuals with the right skills and personality fit
(C) Building trust between the group and management

(D) Developing a cohesive group that conforms to group norms

A person who believes that “the ends justify the means” would be likely to
have a high level of which personality trait?

(A) social skills

(B) Machiavellianism

(C) empathy

(D) self-awareness
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